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1) TRADE THEORY

Question No. 1/ Question ID 172 Marks: 2.00

What is the name of the winding as shown in the figure?

o S fom & fecaman man 8, aEfen &1 am | g

(A) O Involute coil wmdmg (Chosen Option)
Sfed gpsm aref&T (Chosen Option)
(B) O Skew winding

(C) O Skein wmdlng (Correct Alternative)
(Correct Alternative)
(D) © Diamond coil winding

R Fed agfe

Question No. 2 / Question ID 261 Marks: 2.00
What is the cause for hunting effect in an alternators?
3feexAe # g UUTa FT T HRUT 572
(A) O Running with fluctuation of speed
¥ IAR-IGId & U1y T XET &

(B) O Running without load

f§1 oite & =l @I R
(C) O Due to continuous fluctuation in load (Correct Alternative)

GIER: AR EGE JdR-degld & BRI (Correct Alternative)
(D) O Due to over load (Chosen Option)

HR & BRI (Chosen Option)

Question No. 3 / Question ID 208 Marks: 2.00
What is the total electrical degrees of a 3 phase, 4 pole AC machine?

3T, 4 OId AC TRIH &1 $d fayd f&ult fa gt g2
(A) O 180° (Chosen Option)

180° (Chosen Option)
(B) O 1080°

1080°




(C) O 720° (Correct Alternative)
720° (Correct Alternative)
(D) O 360°
360°

Question No. 4 / Question ID 500 Marks: 2.00
What is the type of over head line joint as show in the figure?
for T GRITT SR 3MeREE A SIS P UHR T 82

B — e @ /s ———— e @
& E & ;

(A) O Twisted joint

ST g il
(B) O Straight joint through connectors (Chosen Option)

FHdey & A1HH I Y Gﬁg (Chosen Option)
(C) O Straight sleeve joint

I BT SIg
(D) O Battery Charging Circuit (Correct Alternative)
i1 |fdhe (Correct Alternative)
Question No. 5/ Question ID 238 Marks: 2.00

What is the name of the AC single phase motor as shown in the diagram?

o # 2T U AC R Tl Aiex &1 91H 1 82




ELNY2M411E

ELNY2M4118

(A) O Universal motor (Correct Alternative)
Hiex (Correct Alternative)
(B) O Permanent capacitor motor
R GUTRA HIeY
(C) O Shaded pole motor (Chosen Option)
Uid Hiex (Chosen Option)
D) O ReS|stance start mductlon run motor
%CIC 'éSORI'-I RG} Hiex

Question No. 6 / Question ID 473 Marks: 2.00
What are the important stages in a simple inverter?
TP YR 39X H HEIY0! IR0 T 572
(A) O Oscillator and rectifier stages
3R fapeRt =R
(B) O Oscillator and amplifier stages
AP 3R TABRR aR0T
(C) O Oscillator, amplifier and transformer output stages (Correct Alternative) (Chosen Option)
, qm?ﬂw 3R gmrmﬁ? JdTg dRUT (Correct Alternative) (Chosen Option)
(D) O Amplifier and transformer output stages

TIEIHTR 3R SRIHTHR fFEfd =Ro]

Question No. 7 / Question ID 461 Marks: 2.00
Which is frequency converter?
3TgFT HGER DI AT 82
(A) O D.CtoA.C converters (Chosen Option)
D.C ¥ A.C Hacy (Chosen Option)




(B) O D.C choppers
D.C AR
(C) O Cyclo converters (Correct Alternative)
(Correct Alternative)

(D) O Rectifiers

Question No. 8 / Question ID 398 Marks: 2.00
How the control circuit voltage for a contactor are selected?
forft Fudharal & g fd=mr fdhe diees &1 9a4 & forar Sran 87
(A) O As per rated current
YRT & 3TAR

(B) O As per supply voltage (Chosen Option)

diecsl & SIJIR (Chosen Option)
(C) O As per the type of supply

& UHR & AR
(D) O As per no volt coil rating (Correct Alternative)

e WTET'T I ®H SIJUIR (Correct Alternative)

Question No. 9 / Question ID 104 Marks: 2.00
Why shunt field coil is connected in series with holding coil in D.C three point starter?

e it disd &I D.C 3t Uige Wi # gIfcsT disd & A1y §aell H i SiisT Sl 872
(A) O Protect the shunt field from over current
T[T BIeE Bl HRc F F41U
(B) O Increase the holding coil current
BICET Higd HRc TGN
(C) O Protect the motor in case of open in shunt field (Correct Alternative)
Tie Wics ga a1 @t AT & Aiex Bt YR T (Correct Alternative)
(D) O Decrease the holding coil current (Chosen Option)
SIS BIsd PHc "l (Chosen Option)

Question No. 10 / Question ID 20 Marks: 2.00
Why the compensating winding is provided in the large DC generators?
§$ DC S Rex! # erfayfed afEn ot uem &1 St 82
(A) O To decrease the efficiency of generator
SRR 1 Gl 1 HH DR & folg
(B) O To reduce the commutation effect
HRICYA YU Dl HH B & oy
(C) O To neutralize the cross-magnetizing effect of armature reaction (Chosen Option)
TR UfAfhaT & HI9-HICTSONT UHT Y 93RIR B3 & fiT (Chosen Option)

(D) O To neutralize the demagnetizing effect of armature reaction (Correct Alternative)

SR ufafepar & ﬁﬂﬁ'ﬂﬁ'ﬂ UHTT I IR A B 1%13 (Correct Alternative)

Question No. 11 / Question ID 435 Marks: 2.00
What is the purpose of JOG key in control panel of D.C drive?
D.C §12d & AU U H JOG ol HT I F1 572
(A) O Stop the motor
§G A




(B) O Inching operation (Correct Alternative) (Chosen Option)
T 3T (Correct Alternative) (Chosen Option)
(C) O Reverse the direction of motor
HicR &1 fe=n ere §
(D) O Restart the motor
HIeR Bl TRRY B

Question No. 12 / Question ID 183 Marks: 2.00
Which type of wire is used for rewinding of A.C 3 phase motors?
A.C 3 Tl TieR! & A & forg {6y TR & dR &1 ITANT foan STt 82
(A) O PVC covered copper winding wire (Chosen Option)
HoR did aefedl dR (Chosen Option)

(B) O Super enamelled copper wire (Correct Alternative)

JuR TATHES HIUR aTaR (Correct Alternative)
(C) O Double cotton covered copper wire

ST HUN PR did b dR
(D) O Single cotton covered copper wire

TS HUTH R HIUR AR

Question No. 13 / Question ID 403 Marks: 2.00
What is the purpose of control transformer used in the control panel wiring?
HId Ud I & IUGNT fhT O a1 dheld SRIhIER BT 3e-d 31 872
(A) O To supply the power to the auxiliary circuits (Correct Alternative) (Chosen Option)
TeHa® Afdbe P faoret 31 Gﬂ'l]:ﬁ P31 & o (Correct Alternative) (Chosen Option)
(B) O To maintain the constant supply voltage
R 3Mgfdf aiees s X8 & oy
(C) O To supply the power to the motor circuits
! faroTelt @t Syfcd e & forw
(D) O To supply the power circuits

fayd wfdhe &I 3myfd & fow

Question No. 14 / Question ID 328 Marks: 2.00
What is the main advantage of a class A amplifier?
AT T THATTER T H- AT T 872
(A) O Maximum voltage gain
oY
(B) O Minimum distortion (Correct Alternative) (Chosen Option)
“g-AdH ﬁ?ﬁf (Correct Alternative) (Chosen Option)
(C) O Maximum current gain

SHfIHIH URT TH

(D) O Minimum signal to noise ratio losses

R 3fIUTd g1 & ferg g=ad Rera

Question No. 15/ Question ID 431 Marks: 2.00
Which power modulator used in the electric drive system?
Zafded gr2d Ried § fy UTaR Higgelex &1 IUdT foar ST g2
(A) O Phase sequence indicator
RO 3IhH YD




(B) O Servo controlled voltage stabilizer (Chosen Option)
4l fAafd diee LA (Chosen Option)
(C) O Cyclo converters (Correct Alternative)
(Correct Alternative)
(D) O Frequency multiplier
SICIRRINED

Question No. 16 / Question ID 57 Marks: 2.00

What is the formula for shunt field current Rg, of a DC shunt generator if V1 Terminal voltage Eg =
generated EMF?

afg v AT el By = IO EMF &, T DC X SRR & T BITS BRC Ry, T o1 T 87
(A) O lsh = Eg/ Rgn (Chosen Option)

lsh = Eg / Rgh (Chosen Option)
(B) O lsh =V1XxRgp

Ish = V1 X Rgp
(C) O lsh=EgxRgh
lSh = Eg X RSh

(D) O Ish = V1 /! Rgh (Correct Alternative)
Ish = V1 / Rgp, (Correct Alternative)

Question No. 17 / Question ID 217 Marks: 2.00
Which type of single phase motor is illustrated as shown in the diagram?

fort & feaTY SER b YR 1 Uhdt oRUT Hier I g=ifan 7 &2

. G I . . S |1 .
‘1 n ' 1 = I
Jélw Ly o5 10 uF, 400V = I | Eu Ly o5 30 uF, 400V 4
mg gl ‘"§ RS
E i (=] O = % = O o
| Y2 & Z | Uz & &y
NE- * § Ng‘ + §
(A) O Capacitor start capacitor run motor (Correct Alternative)
TWré FUfReR 3 Aiex (Correct Alternative)
(B) O Capacitor start induction run motor
LIC 3SR I HICY
(C) O Permanent capacitor motor
R} FeTRA Hex
(D) O Universal motor (Chosen Option)
e’ (Chosen Option)
Question No. 18 / Question ID 176 Marks: 2.00

What is the relation betcween the torque and the slip of an A.C induction motor?
A.C 3SR HIeR & T R &0 & o o Taie 82
(A) O Slip consant if torque decreases (Chosen Option)

gfe efdh gedl g af f&7u fRRI% (Chosen Option)

(B) O Slip increases if torque increases (Correct Alternative)

Tl'fa i3 dedl % GIRES L El'a?ﬁ % (Correct Alternative)




(C) O Slip increases if torque decreases
gfe Tieh el & df Ry gt 3

(D) O Slip decreases if torque increases

g Tl Jedl g al ey gedl §

Question No. 19 / Question ID 252 Marks: 2.00
What is the supply frequency of an alternator having 6 poles runs at 1000 rpm?
1000 3RUTH TR 6 I AT T 3HeeIex BT YL AT o1 82
(A) O 25Hz
25 Hz
(B) O 40 Hz (Chosen Option)
40 Hz (Chosen Option)
(C) O 50 Hz (Correct Alternative)
50 Hz (Correct Alternative)

(D) O 60 Hz
60 Hz

Question No. 20 / Question ID 211 Marks: 2.00
What is the name of the bearing as shown in the figure?

for 7 famy SR foafr &1 9 T 82

(A) O Bush bearing (Chosen Option)
g ICRIRS (Chosen Option)
(B) O Thrust bearing
U forafar
(C) O Roller bearing
RIeR forafa
(D) O Ball bearing (Correct Alternative)
CIGACRIEY (Correct Alternative)

Question No. 21 / Question ID 142 Marks: 2.00
What is the name of AC coil winding as shown in the figure?

AC HISd dIS(STT BT T 1T g2




IR
s u//\s//\u* s
NN
1 A H ' ]
: AN N s
SN N
:

(A) O Slngal layer winding
T oeR argfém
(B) O Whole coil winding (Correct Alternative) (Chosen Option)

11? W ETE'%'W (Correct Alternative) (Chosen Option)
(C) O Double layer winding
LRGICIEIE
(D) O Half coil winding
el S

Question No. 22 / Question ID 282 Marks: 2.00
What is the purpose of the damper winding in a synchronous motor at starting?
Rich I Hicr # TIféT & THa SR A& &1 31 S8 e 82
(A) O Produces a high voltage to oppose the stator flux
R TART BT [aRIY IR & (o1 Udh 3od dlecol STF Bl §
(B) O Produces a torque and runs near the synchronous speed (Correct Alternative)
Udh T IT Pl % 3R i fa & H3T Iaqan % (Correct Alternative)
(C) O Produces a high current to oppose the stator flux
WeR A Bl faR1Y IR & oY T I YRT I Bl &

(D) O Produce a high magnetic-field to maintain a constant speed (Chosen Option)

TS g T S9N @A & AU U S Jaia-&3 &1 fAAfor &% (Chosen Option)

Question No. 23 / Question ID 128 Marks: 2.00
What is the name of the winding if the end lead of coil 1 is connected to the beginning lead of the adjust
coil 2 through the commutator segment?

tri%ﬁs—%r 1 %1 3ifaH o FRICR WTHT & AT Y TSORE Higd 2 & YO o1 I I3T § dl arsfat &l
ATH T 67
A) O Duplex wave winding (Chosen Option)
dd d1SfET (Chosen Option)
B) O Duplex lap W|nd|ng
S@d Y argfE




(C) O Simplex wave winding
a_a oﬁc

(D) O Simplex Iap winding (Correct Alternative)
Y arEfST (Correct Alternative)

Question No. 24 / Question ID 422 Marks: 2.00
Which gas is used in SFg circuit breaker?

SFg Tfthe s T ford 11 ST ITANT faa SiTal g2
(A) O Sulphur hexafluoride (Correct Alternative)
Helpr %WTQ?I-'\TIET{ (Correct Alternative)
(B) O Sulphur dioxide (Chosen Option)
PR SB3HIRITES (Chosen Option)
(C) O Carbon dioxide
PHIa- SISHTRISS
(D) O Acetylene

Question No. 25 / Question ID 419 Marks: 2.00
Which device detects a physical quantity?
P T IYHRT Hifclds [T T Tl TR 872
(A) O Sensors (Correct Alternative) (Chosen Option)
' (Correct Alternative) (Chosen Option)
(B) O Starter

(C) O Motor
e

(D) O Circuit breaker
fdhe s

Question No. 26 / Question ID 138 Marks: 2.00
Which formula is used to calculate the percentage in slip of an AC 3 phase induction motor?

T 3 Tl S8R HIeR & 0 & UiA=Id St T0HT - & g [ 3 &1 SuaiT foan s g2
(A) O |Ng-N;
Ng
Ng—Np
Ng

X 100 | (Correct Alternative)

X 1001 (Correct Alternative)

(B) O
Ne=Hy %100 (Chosen Option)
2

Lol x 100 (Chosen Option)
>

C)O Np- Ne=Ns _ 400

5

N X100
5

Nr=Ng




D o
B)O Ni-Ns . .49
Ny
Ny —Ng %100
Ny
Question No. 27 / Question ID 318 Marks: 2.00
Which logic gate refers the tl;uth table as given below?
e &} 13 Tt aIfeiesT B S A1 AT T Yafid BT 8?2
A B A+B A A+B
0 0 1 0 1
0 1 0 0 0
1 0 0 1 0
1 1 0 1 0
(A) O NOR (Correct Alternative) (Chosen Option)
NOR (Correct Alternative) (Chosen Option)
(B) O AND
AND
(C) O NOT
NOT
(D) O NAND
NAND
Question No. 28 / Question ID 71 Marks: 2.00

What is the formula to calculate the back EMF in a DC motor?
DC Hiex & & EMF @1 0T 63 &1 BIHaT 1 872

(A) O

(B) O

(€) O

ZNP
b~ 9 B0A

ZNP

b~ 9 B0A
_B60AQ
7 ZNP
_60AQ
°T ZNP
_@ZNP
"7 BOA
_@ZNP
°" BOA

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)




(D) O NP
E,=—
Zp60A
__NP
" Zp60A

Question No. 29 / Question ID 12 Marks: 2.00
What is the name of the part of DC generator as shown in the figure?

o & T2T 71U DC SReR & HNT BT 19 T 82

(A) O Stator (Chosen Option)
TR (Chosen Option)
(B) O Yoke (or) frame (Correct Alternative)
1)) e (Correct Alternative)
(C) O Pole core
Yd DR
(D) O Pole shoes

BRI

Question No. 30 / Question ID 70 Marks: 2.00
What is the type of the DC motor as shown in the diagram?

ST P fomr # feaman 71 8, DC Hie &1 UHhR T 872

L0 =1 L0 5
Ay
O 3
5 5
B, B
} {
L- E i E

(A) O Long shunt compound motor (Chosen Option)
W&l 2C HUTSS Hiex (Chosen Option)

(B) O Short shunt compound motor (Correct Alternative)
¢ e HUES HIex (Correct Alternative)

(C) O Series motor
guft AR

(D) O Shunt motor
e A}

Question No. 31 / Question ID 327 Marks: 2.00




How the gate terminal of N channel JFET biased?

N I9d JFET &1 7 efHHd & Sffied 82

(A) O Gates are reverse biased
e Uy A §

(B) O Gates are forward biased
e 37 3 §

(C) O Gates are reverse biased with source (Correct Alternative) (Chosen Option)
ﬁ’c‘}[ O & 914 Uy iy % (Correct Alternative) (Chosen Option)

(D) O Gates are forward biased with drain

e 37 Ty o7 3ifAq §

Question No. 32 / Question ID 436 Marks: 2.00
What is the purpose of LCD on basic operator panel in D.C drive or A.C drive?
D.C 313d T A.C $13d H 9f¥eh 3{TqRex Ud TR LCD &1 I£-T T 82
(A) O Calculate the speed (Chosen Option)

ARG (Chosen Option)
(B) O Monitor the parameter (Correct Alternative)
TR ) fATRT &Y (Correct Alternative)
(C) O Detect the load current
TS BT BT Udl AY
(D) © Measure the speed
ey AT

Question No. 33 / Question ID 255 Marks: 2.00
What is the purpose of damper winding in an alternator?
ot arceer § STR IIEfST &1 31 322U ]2
(A) O Improves the voltage regulation

T YR AT §
(B) O Reduces windage losses (Chosen Option)
9rg BT &1 &Y HdT § (Chosen Option)
(C) O Reduces the copper loss
die & JHUH Bl HH AT §
(D) O Reduces the hunting effect (Correct Alternative)
{31 & UHTG B HH HIAT & (Correct Alternative)

Question No. 34 / Question ID 323 Marks: 2.00
Which multi vibrator produces a repetitive pulse wave form output?
DI I Aee! aigeer T Rufefed ueq ad i 33eyce IUd Hdl g2
(A) O Bistable multi vibrator

s ad Heel argsiey
(B) O Astable multi vibrator (Correct Alternative) (Chosen Option)
3CTd Aol ?ﬂsaz? (Correct Alternative) (Chosen Option)
(C) O One shot multi vibrator
9 ¢ Aol aigsicy
(D) O Monostable multi vibrator
AHRCEd Hee! daIgsiex

Question No. 35/ Question ID 511 Marks: 2.00
Why the pin insulators outer surface is made by glazing and bent the sides inward?

e O $Yciex 9183 Tag &) TRAT gRT o) 5911 T § 3R fHIRI &l 3R Y R o4} Pobl 8T 872




(A) O To attract the birds to sit on it
TR 1 39 IR §6+ & AU ST iNd $H- & oy
(B) O To offer the high mechanical strength
J gifAes YfeRd UG BHRA & o1y
(C) O To drip off the rain water (Correct Alternative) (Chosen Option)
auf & U P TUPH & ﬁl'l'{ (Correct Alternative) (Chosen Option)
(D) O To withstand the high voltage
3 dlecs bl o & g

Question No. 36 / Question ID 35 Marks: 2.00
Why the pole core is laminated in DC generator?
DC SHReR B Ui ®HR &1 dffie ol fohar oirar g2
(A) O To reduce the hysteresis loss
Bl B HH B & oy

(B) O To reduce the friction loss (Chosen Option)

YT g1 &) HH B & A (Chosen Option)
(C) © To reduce the windage loss

LI B B HH I & fw
(D) O To reduce the eddy current loss (Correct Alternative)

Q’ﬁ Gy BTfef P AP ﬁ'l'l'{ (Correct Alternative)

Question No. 37 / Question ID 115 Marks: 2.00
Which type of DC armature winding has the front pitch (YF) greater than back pitch (Yg)?

g YR @I DC SR AT & the U (V) 9% U (Yp) A 31 gt 872

(A) O Progressive winding

B) O Retrogresswe wmdlng (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(C) O Lap winding

(D) © Wave winding

Question No. 38 / Question ID 305 Marks: 2.00

Which instrument provides a visual representation of measured or tested quantities?
P T JUHRUN AU T AT RO AT 61 Th €= U@ UaH &Rl 82
(A) O Cathode ray oscilloscope (Correct Alternative) (Chosen Option)

3 SfTREpIT (Correct Alternative) (Chosen Option)
(B) O Function generator

o oo

(C) O Radio frequency generator

ieh ! SR

(D) O Voltage stabilizer

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 526 Marks: 2.00
V\ihich type of stress?
& I-1 Ufaed 872




1N
= n
L
N a
1
= n
A /\\\\\\\\\\*
:

(A) O Compressive stress

(B) O Shear stress (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O Tensile stress
GRICI

(D) O Torsional stress

Question No. 2 / Question ID 533 Marks: 2.00
What is the term used for the method of calculating various quantities and expenditure on a particular job
or process?

o) fafare orf a1 ufthar ® faftrmT ammsit ik g &) o1 S &1 f3fY & fore uamT # <ft S areft
IEAG ] e
(A) O Drawing

IEECANI

(B) O Estimation (Correct Alternative) (Chosen Option)
3T (Correct Alternative) (Chosen Option)
(C) O Plan
IS

(D) O Specification
ICERYl

Question No. 3 / Question ID 523 Marks: 2.00
What is the expanded form of (a+b)2?
(a+b)?2 &1 fawaiRd &9 1 82




(A) O a? + 2ab + b? (Correct Alternative) (Chosen Option)
a2 + 2ab + b? (Correct Alternative) (Chosen Option)

(B) O a2+2ab-b?

a? + 2ab - b?
(C) O a2-2ab +b?
a? - 2ab + b2
(D) O -a?-2ab + b2
-a® - 2ab + b?
Question No. 4 / Question ID 518 Marks: 2.00
What is the purpose of a lubricant?
VD BT 3L HT 872
(A) O To reduce pressure
Gd1d P HH B & [T
(B) O To increase friction (Chosen Option)
YT DI aaﬁ & ferg (Chosen Option)

(C) O To reduce friction (Correct Alternative)
TYUT 1 HH B & T (Correct Alternative)

(D) O Toincrease the pressure

GaTd g o forg

Question No. 5/ Question ID 522 Marks: 2.00
Which is the formula for

DAY §

+n

a
am
a™ XN (Chosen Option)
a™ X" (Chosen Option)
€)O (a
(a
a
a

(D) O

M-N (Correct Alternative)
M -N (Correct Alternative)

Question No. 6 / Question ID 521 Marks: 2.00
What is the formula for a™x a"?
M x a" & forg e o1 82
(A) O a™ (Chosen Option)
MN (Chosen Option)
(B) O a™*n (Correct Alternative)
a™*" (Correct Alternative)
(C)O n.am

n.am




(D) O amn

am-n

3) ENGINEERING DRAWING

Question No. 1/ Question ID 548 Marks: 2.00
Choose the symbol for main fuse board without switches (P).

o1 g (P) & I RIS TS & ot s |
(A) O

(B) O

(Correct Alternative) (Chosen Option)

(Correé:t Alternative) (Chosen Option)

(€)O




e

Question No. 2 / Question ID 542 Marks: 2.00
What is the name of the gate
T T A0 R1 87

Ex-NOR Gate (Chosen Option)
Ex-Nor 7€ (Chosen Option)

(B) O OR Gate
ORTC

(C) O AND Gate (Correct Alternative)
AND 7T (Correct Alternative)

(D) O NOT Gate
NOT T

Question No. 3 / Question ID 539 Marks: 2.00
|dentify the wave form.

99 BTH &I Uga




(A) O Saw-tooth wave (Chosen Option)
ﬁ-@ﬂ G| (Chosen Option)

(B) O Triangle wave
[EEANICE]

(C) O Sine wave (Correct Alternative)
LIER] aq (Correct Alternative)

(D) O Square wave
W dd

Question No. 4 /| Question ID 543
Which is photo diode?
Icl SIS DI A1 872

(A) O

A

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Marks: 2.00




(B) O

(C)O

(D) O

Question No. 5 I‘QUest(ioﬁ ID 545 Marks: 2.00
Which is a symbol of DC motor?

I T DC HieR T Udib 872




(A) O

(Correct Alternative)

(Correct Alternative)

(B) O

(C) O

(Chosen Option)

(Chosen Option)




(D) O

Question No. 6 / Question ID 553 Marks: 2.00
Identify the switch in the given picture.

few o forr o Rt 1 wga™

(A) O Flux type switch (Chosen Option)
TR UHR {9 (Chosen Option)

(B) O Intermediate Switch
SeHifSTe g

(C) O Tumbler Switch (Correct Alternative)
TR 99 (Correct Alternative)

(D) O Toggle Switch
EUNATSE]

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 725 Marks: 2.00
What has drastically changed the world of work?

BT B g | bl ot = YR SGad fodn g2
(A) O Workers
CIEEg

(B) O Technology (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O Investment
IBERY

(D) O Environment
BIRCE

Question No. 2 / Question ID 576 Marks: 2.00

Fill up the blanks with suitable words so as to become a meaningful sentence.
The Principal called Manoj. The Principal asked to show hall ticket for the CTS




Examination.
et R o1 Sferd Weal ¥ WX difds Ueb Wrdeh a1y & 9 |
The Principal called Manoj. The Principal asked to show
Examination.
(A) O her, him
her, him
(B) O him, his (Correct Alternative) (Chosen Option)
him, his (Correct Alternative) (Chosen Option)
(C) O him, her
him, her
(D) O her, his
her, his

hall ticket for the CTS

Question No. 3 / Question ID 651

What does migrating for work mean?

& & forg Hgdie &1 1 Taad 872

(A) O Staying in the same place for work (Chosen Option)
P & AT T &1 S8 TR T8 (Chosen Option)

(B) O Working from home
TR Y HH BT

(C) O Changing jobs within the same city
TS g1 TeR § A< gaar

(D) O Moving to a different place to find a job (Correct Alternative)

Marks: 2.00

A Wi & g feft gaR I TR T (Correct Alternative)

Question No. 4 / Question ID 595
Which of the following are included in a resume?

srerer § Ruafiafad 5 3 o nfid gl g2

Marks: 2.00

(A) O Contact information, educational details, skills and work experience (Correct Alternative)

r?n%w ﬁER'UT I 3R B S3[JHd (Correct Alternative) (Chosen Option)

(Chosen Option)

(B) O Childhood memories, dreams, and aspirations
T F 1, O SR et

(C) O Daily routine, favorite movies, and vacation plans
2P R, Tgdie fret ok @Ral &t dammd

(D) O Hobbies, favorite foods, and personal interests

T, qeetar Qo 3R SfaTd Shy

Question No. 5/ Question ID 653
Some one plans to move to a different city for work, should

DI AT HH & AT AR e’ A o @ A S @R, 3

Marks: 2.00




(A) O Find how much it will cost to travel and live there; earn and save. (Correct Alternative)
(Chosen Option)

I & 981 a1 # 3R 81 § fohd=m @ 3muwm; 3 3R |a A1 A1RT (Correct
Alternative) (Chosen Option)

(B) O Apply for loan in bank.
d% H U1 & AT S1da BT 1T
(C) O Move to new place and search for job.
TS T8 TR ST 3R AR B eI AT Moy

(D) O Ask money from relatives and friends.

RedeRT $fR ikl A U 71 =1feT

Question No. 6 / Question ID 690 Marks: 2.00
Full form of GPS is
GPS &1 Hd BiH g
(A) O Great Polar System
Great Polar System
(B) O Globe Pointing System
Globe Pointing System
(C) O Global Planning System (Chosen Option)
Global Planning System (Chosen Option)

(D) O Global Positioning System (Correct Alternative)
Global Positioning System (Correct Alternative)

Question No. 7 / Question ID 794 Marks: 2.00
You are a lifelong learnerifyou
g efigd fad e g g afgem
(A) O live for a long time
Td T d% Siifad <8d &
(B) O join online courses
3[eTS Ureashal ¥ §
(C) O keep growmg and adding to your knowledge (Correct Alternative)
3T M Tﬁﬁ 3R \_rﬁ's?f ?% (Correct Alternative)
(D) O geta PhD (Chosen Option)
PhD UTW &% (Chosen Option)

Question No. 8 / Question ID 634 Marks: 2.00
Which is an 'App' based Gig economy, helps people in part time job?

DI I T T 3R T HHTHT |, S U1 eT3H Siid - ardd AN & Heg Bl 872
(A) O Home catering

(B) O Permanent employee

(C) O Swiggy (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Independent contractor
RERE|

Question No. 9 / Question ID 593 Marks: 2.00
What is the process of formally introducing oneself called?

3R U F 30T GRS &1 Ufhar &1 o1 Hed o2




(A) O Seeking
(B) O Hiring
TR

(C) O Self-introduction (Correct Alternative)
3 (Correct Alternative)
(D) O Decision (Chosen Option)
(Chosen Option)

Question No. 10 / Question ID 815 Marks: 2.00
While presenting your business plan to potential investors, why is it important to actively listen to their
questions and provide thoughtful answers?

QIeRTd g-a%ey & I SO ooy W URdd &d 94, 396 U & Aiehd U J JA1 3R faarefia
IR 1 71 Ayl 82
(A) O To show off your expertise

3T faRIRIdT &1 i@ & forg

(B) O To understand the concerns of the investors and build their confidence in your plan
(Correct Alternative) (Chosen Option)

g% @t e &) IHeET 3R v Wi+ A 39571 fAyRT S & oY (Correct

Alternative) (Chosen Option)
(C) O To avoid eye contact
31T Picae ¥ a4 & fog

(D) O To show your communication skills

3T HRIH A fRped B! fom & forg

Question No. 11 / Question ID 684 Marks: 2.00
What is the standard way in which computers connected wireless?

IR B! IARAY TR Y Hdc B BT A b ol 57

(A) O LAN (Chosen Option)
LAN (Chosen Option)
(B) O WAN
WAN
C)O IsP
ISP
(D) O Wi-Fi (Correct Alternative)
Wi-Fi (Correct Alternative)

Question No. 12 / Question ID 630 Marks: 2.00
Good practice for green mind set is
W O1RE Te & o st siam g
(A) O Separate and recycle waste (Correct Alternative) (Chosen Option)
P B AT B 3R IYBT gTﬁfﬁUT G2y (Correct Alternative) (Chosen Option)
(B) O taking lot of printouts
ggd R flesae o
(C) O using aircondictioners all the time
TR AT TR B BT SUART DAl
(D) O keep lights on all the times
R Y A1 3 @

Question No. 13 / Question ID 774 Marks: 2.00




When a manufacturer trying to make a better school bag using design thinking. What would be the next
step after understanding the students need in a bag?
O DI AT fESTE R &1 ST dxds Uh S8R Wb d oF S $I HIRIRT HR T § a9 [qanil ol
TP o ! SaLIHd] A & d1G JaRe WU &7 G2
(A) O Choose the colour of the bag
CUEIRUECCE]]
(B) O Plan different bag designs (Correct Alternative)
fafarar v fesIrg= &1 W= 99T (Correct Alternative)
(C) O Choose the material for the bag (Chosen Option)
T H fou aefaa AT (Chosen Option)

(D) O Ask students to test the bags
faenfial & o1 &1 ¢xe A Bl FHe

Question No. 14 / Question ID 704 Marks: 2.00
Why is it good to think about what you learn?

3T S IRad & S W R S31 R 3137 872

(A) O It helps to remember and understand better. (Correct Alternative)
Y IT¢ @A 3R IR A A Heg At 81 (Correct Alternative)
(B) O It's a good time pass
g 3BT TISH U §
(C) O Itimproves handwriting.
Y forarae # gUR gt g |
(D) O All are doing (Chosen Option)
i R W § (Chosen Option)

Question No. 15/ Question ID 633 Marks: 2.00
What does a workplace look like after a pandemic like covid?
HIfdS S HEMRT & §1G BRI b fedl 52
(A) O Empty space

Red -
(B) O Less production (Chosen Option)
hH Jdlqd (Chosen Option)
(C) O Mix of work from home and office (Correct Alternative)
TR 3R AP & BT BT g (Correct Alternative)
(D) O Less employees
HH

Question No. 16 / Question ID 752 Marks: 2.00
When a machine operator suddenly face a problem, and quickly finds another way to do the work is

called as
9 U ARIH TIRER & 3 [t THT BT FHAT HAT USdT 8, 3R 98 qRd HIH B BT GIRT dRIb]

¢ AT 8, O 3 T P8 872




(A) O Adaptability (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

B) O Iptegrity
(C) O Sincerity

(D) O Honesty

Question No. 17 / Question ID 715 Marks: 2.00

While applying for a position as fitter, which of the following email subject lines would be the most
suitable?

fhex & Ug & foT simde drd Wy, fFafafad # 9 o 9 38 favg dfdd ged Sugad grfi?
(A) O Fitter Job needed
"fheR S B oRexd ©
(B) O Application for Fitter Position - [Your Name] (Correct Alternative)
flher U %’E[ 3TdeH - [SITYRT ATH] (Correct Alternative)
(C) O Urgent Attention Needed (Chosen Option)
IHTA T S P 3MFRIH T 8 (Chosen Option)
(D) O Applying for a new Job

Al o e Sffda B 36 §

Question No. 18 / Question ID 608 Marks: 2.00
One of the informations in an informal conversation with a co-worker is
fH BI-ghx & Y THIHA H-au<H J & T8 TGN § 4 UH §
(A) O asking about their experience. (Chosen Option)
3% 3IHd & SR T BT (Chosen Option)
(B) O asking about the office timing.
3{Tth Y TSt & aR § g
(C) O asking about their roles in the company.
U T Ib! YHDH13M & aR T g1
(D) O asking about their house. (Correct Alternative)

ST R P IR A YSHT (Correct Alternative)

Question No. 19 / Question ID 754 Marks: 2.00
While working in a project, you understand that you did a mistake. What should you do?
foHelt TioTae B 10 ®HRd T SUD! TH 3111 § o ST T 81 7T | STUHT FT BT ATga?
(A) O Wait for someone else to find out your mistake
3O Tl ST o foTg faret SR T SR T AT
(B) O Blame team members for the mistake
Terdl o forT & & Fal Bl Gy 1 =iy
(C) O Ignore the mistake and continue working
DI TR HIAT 3R HIH SR} TG AT
(D) O Tell your boss about the mistake (Correct Alternative) (Chosen Option)
& IR H U 19 B FdT ﬂTI%‘E (Correct Alternative) (Chosen Option)

Question No. 20 / Question ID 745 Marks: 2.00
What does working well together mean?
Udh gTY =3 Hh[H HH BT JT JdAS %’?




(A) O Be friendly with all (Chosen Option)
oo 1Y fEagul agR &A1 A1 (Chosen Option)
(B) O Sharing ideas, listening, finding solutions together (Correct Alternative)
ICEIK] ATAT DIAT, AT, I1Y EREEEEIDIERCITEI ?ITI%'Q (Correct Alternative)
(C) O Participate get-together
YARIE | HRT o A8
(D) O Not doing any mistakes

TTeIdt 8] ®1 Aled

Question No. 21 / Question ID 592 Marks: 2.00
A person with high emotional intelligence has
3 YT G H dTcl Hfad & I e |
(A) O physical strength
XY

(B) O lot of positive qualities (Correct Alternative) (Chosen Option)
dgd IR HRIAD 10T (Correct Alternative) (Chosen Option)

(C) O ego

(D) O lot of negative qualities
9gd IR AHRIAD 00

Question No. 22 / Question ID 772 Marks: 2.00
If you come up with an idea to improve the work using design thinking. What must you do next?

mﬁ&m%amfﬁmwmn PR B B JgAR I B DS [AAR AD 3T § | STUD! S T HAT
?
(A) O Tell everyone about it
P TR H Gt I I AT
(B) O Write down his idea and keep it safe
30 3MTSET 1 foRg R PR 3@ A1 =nfeu
(C) O Think of another idea
X STSfSAT & IR | AT aifgy
(D) O Apply and test if it works (Correct Alternative) (Chosen Option)

Tfe g HTH HIA1.8 df TS BT 3R 37 BT I (Correct Alternative) (Chosen
Option)

Question No. 23 / Question ID 613 Marks: 2.00
Which of the following actions in a official meeting show appropriate workplace etiquette?

et sifftefRre Hifen & Fufefed # @ &9 91 o1 srivd R Ifd RiveR gxifar g2

(A) O Keeping the phone on silent mode and actively participate in the discussion (Correct
Alternative) (Chosen Option)

BIH P TIgdic HIS WR ¥GAT 3R f3Tm § Afthy U | UFT AT (Correct Alternative)
(Chosen Option)

(B) O Chatting with coworkers
DI-qh¥ &b 1Y FTdid DA

(C) O Interrupt the speaker in meeting
HIT & Wi DI & H AT

(D) O Checking phone and respond to messages
I &1 Sid BT 3R TS BT IR &1

Question No. 24 / Question ID 810 Marks: 2.00




If some one wants to apply bank loan for their business, their business plan should have
AfE P13 ST fIem g & foTT I A SIS 1 A6 7, f SUP! ooy @ | g1 TTfeT
(A) O business profit details (Chosen Option)
Oifthe f&ca (Chosen Option)

(B) O have only the idea and name of the business

IS (SS9 &1 had MEfear 3R 91
(C) O challenges about the business along with solutions (Correct Alternative)

I F R | ﬂﬁﬁ'q}f & gTY-91Y T (Correct Alternative)
(D) O total cost of the business without any details

faT fondft feeed & forel9 &t ol arTd

Question No. 25 / Question ID 685 Marks: 2.00

Which wireless technology standard used for exchanging data between fixed and mobile devices over
short distance?

FY g8 W RR R Alesd fEasy & 9 S¢1 &1 HEH-UGH &+ & (ol f6y arRad da-id JHd &
ST fora T 57
(A) O Router
MSHRR
(B) O Bluetooth (Correct Alternative) (Chosen Option)
&Y (Correct Alternative) (Chosen Option)

(C) O CD/DVD
CD/DVD

(D) O Pen drive
BEESIEG




